‘RAMDETKRS @R

BiZH :

2% A

| RoOBEFEOBEEEROILL). OTVRERZFYVEIL LI, )

6cm

. 3cm .

4cm

'
[l
1
\
\
|- 3cm -
\ N
N \
N \

U?‘
Ps\/

2 ROEFEHOBEND OS>\ Bro@mErRHI L L,

3cm

3\ -

(DTVWFIEIRZTYILLI, )




ﬁﬁECD Bzt : B =]
B REILT w@

EAHOETRD 2 @A 23z

| RoOBEFEOBEEEROILL). OTVRERZFYVEIL LI, )

- 3em .2cm
7 | X6 X8 =48
4cm _—
0 e 4%x3=12
o 3em
48— 12=36
~~~~~~~~~ 8cm

t2: 36 cm?

2 ROREOEBEDO>WERsOEEEROE L LI,
(DTWVWFRIRZTYELLD, )

%: 3 X 10=30

3cm
2X2=4
30— 4 =26

%72: 26 cm?

BIBTCRYAY





